

Oscillation of Higher Order Fractional Nonlinear Difference Equations

Senem Kısalar, Mustafa Kemal Yıldız and Ebru Aktoprak
Afyon Kocatepe University
Faculty of Science and Literature, Department of Mathematics
Afyonkarahisar, 03200, Turkey
snm.kslr@hotmail.com, myildiz@aku.edu.tr
ebru_aktoprak@hotmail.com

Abstract

In this article, we consider higher order fractional nonlinear difference equation of the type

$$\Delta^\alpha x(t) + f_1(t, x(t + \alpha)) = v(t) + f_2(t, x(t + \alpha)), \quad t \in \mathbb{N}_0, \quad m - 1 < \alpha \leq m$$
$$\Delta^{\alpha-k} x(t) |_{t=0} = x_k, \quad k = 1, 2, \dots, m - 1$$

where Δ^α is Riemann–Liouville like discrete fractional difference operator of order α , $m - 1 < \alpha \leq m$, $m \geq 1$ is an integer. We obtain some oscillation criteria for this equation.

AMS Subject Classifications: 39A10.

Keywords: Oscillation, difference equation, nonlinear, fractional, higher order.

1 Introduction

In the present work, we consider the higher order fractional nonlinear difference equation

$$\Delta^\alpha x(t) + f_1(t, x(t + \alpha)) = v(t) + f_2(t, x(t + \alpha)), \quad t \in \mathbb{N}_0, \quad m - 1 < \alpha \leq m$$
$$\Delta^{\alpha-k} x(t) |_{t=a} = x_k, \quad k = 1, 2, \dots, m - 1, \tag{1.1}$$

where Δ^α denotes Riemann–Liouville like discrete fractional difference operator of order α with $m - 1 < \alpha \leq m$. $f_i : [0, \infty) \times \mathbb{R} \rightarrow \mathbb{R}$, $i = 1, 2$ and v are continuous with respect to t and x , $\mathbb{N}_a = \{a, a + 1, a + 2, \dots\}$. We establish some oscillation theorem for higher-order fractional nonlinear difference equations.

2 Preliminaries and Lemmas

In this section, we presented several definitions and lemmas for discrete fractional calculus.

Definition 2.1 (See [3]). Let $v > 0$. The v -th fractional sum of f is defined by

$$\Delta^{-v} f(t) = \frac{1}{\Gamma(v)} \sum_{s=0}^{t-v} (t-s-1)^{(v-1)} f(s).$$

Note that f is defined for $s = a \pmod{1}$ and $\Delta^{-v} f$ is defined for $t = (a+v) \pmod{1}$; in particular, Δ^{-v} maps functions defined on \mathbb{N}_a to functions defined on \mathbb{N}_{a+v} where $\mathbb{N}_t = \{t, t+1, t+2, \dots\}$ and $t^{(v)} = \frac{\Gamma(t+1)}{\Gamma(t-v+1)}$.

Definition 2.2 (See [3]). The μ -th fractional difference is defined as

$$\Delta^\mu f(t) = \Delta^{m-v} f(t) = \Delta^m \Delta^{-v} f(t),$$

where $\mu > 0$ and $m-1 < \mu < m$, where m denotes a positive integer, and $-v = \mu - m$.

Theorem 2.3 (See [2]). Let f be a real-valued function defined on \mathbb{N}_a and $\mu, v > 0$. Then the following equalities hold:

$$\begin{aligned} \Delta^{-v} [\Delta^{-\mu} f(t)] &= \Delta^{-(\mu+v)} f(t) = \Delta^{-\mu} [\Delta^{-v} f(t)], \\ \Delta^{-v} \Delta f(t) &= \Delta \Delta^{-v} f(t) - \frac{(t-a)^{(v-1)}}{\Gamma(v)} f(a). \end{aligned}$$

Lemma 2.4 (See [3]). Let $\mu \neq 1$ and assume $\mu + v + 1$ is not a positive integer. Then

$$\Delta^{-v} t^{(\mu)} = \frac{\Gamma(\mu+1)}{\Gamma(\mu+v+1)} t^{(\mu+v)}.$$

Lemma 2.5 (Young's inequality).

(i) Let $X, Y \geq 0$, $u > 1$ and $\frac{1}{u} + \frac{1}{v} = 1$. Then

$$XY \leq \frac{1}{u} X^u + \frac{1}{v} Y^v, \quad (2.1)$$

where the equality holds if and only if $Y = X^{u-1}$.

(ii) Let $X \geq 0$, $Y > 0$, $0 < u < 1$ and $\frac{1}{u} + \frac{1}{v} = 1$. Then

$$XY \geq \frac{1}{u} X^u + \frac{1}{v} Y^v, \quad (2.2)$$

where the equality holds if and only if $Y = X^{u-1}$.

Lemma 2.6. *The equivalent fractional Taylor’s difference formula of (1.1) is, for $t \in \mathbb{N}_\alpha$,*

$$\begin{aligned}
 x(t) &= \sum_{k=1}^m \frac{(t-a)^{(\alpha-k)}}{\Gamma(\alpha-k+1)} \Delta^{\alpha-k} x(a) \\
 &+ \frac{1}{\Gamma(\alpha)} \sum_{s=a}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + f_2(s, x(s+\alpha)) - f_1(s, x(s+\alpha))].
 \end{aligned}
 \tag{2.3}$$

Proof. We consider the equation

$$\Delta^\alpha x(t) + f_1(t, x(t+\alpha)) = v(t) + f_2(t, x(t+\alpha)).$$

To find a fractional Taylor’s difference formula, we can apply the $\Delta^{-\alpha}$ operator to each order side of this equation. So that, we can make generalization for first, second, later higher order fractional nonlinear difference equations. So, firstly we find a fractional Taylor’s difference formula of first order fractional nonlinear difference equation. We write

$$\Delta^\alpha x(t) = v(t) + f_2(t, x(t+\alpha)) - f_1(t, x(t+\alpha)).$$

By applying the $\Delta^{-\alpha}$ operator to each order side of this equation, we obtain

$$\Delta^{-\alpha} \Delta^\alpha x(t) = \Delta^{-\alpha} [v(t) + f_2(t, x(t+\alpha)) - f_1(t, x(t+\alpha))].$$

We find the left side this equation. The right side is clear from the definition. From Theorem 2.3

$$\begin{aligned}
 \Delta^{-\alpha} \Delta^\alpha x(t) &= \Delta^{-\alpha} \Delta \Delta^{-(1-\alpha)} x(t) \\
 &= \Delta \Delta^{-\alpha} \Delta^{-(1-\alpha)} x(t) - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a) \\
 &= x(t) - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a),
 \end{aligned}$$

we obtain

$$\begin{aligned}
 x(t) &- \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a) \\
 &= \frac{1}{\Gamma(\alpha)} \sum_{s=0}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + f_2(t, x(t+\alpha)) - f_1(t, x(t+\alpha))], \\
 x(t) &= \frac{1}{\Gamma(\alpha)} \sum_{s=0}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + f_2(t, x(t+\alpha)) - f_1(t, x(t+\alpha))] \\
 &+ \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a).
 \end{aligned}$$

Now, to find a fractional Taylor's difference formula for second order, we consider

$$\Delta^\alpha x(t) + f_1(t, x(t + \alpha)) = v(t) + f_2(t, x(t + \alpha)).$$

If we apply the $\Delta^{-\alpha}$ operator, then we obtain,

$$\Delta^{-\alpha} \Delta^\alpha x(t) = \Delta^{-\alpha} [v(t) + f_2(t, x(t + \alpha)) - f_1(t, x(t + \alpha))].$$

For the left side,

$$\begin{aligned} \Delta^{-\alpha} \Delta^\alpha x(t) &= \Delta^{-\alpha} \Delta^2 \Delta^{-(2-\alpha)} x(t) \\ &= \Delta^{-\alpha} \Delta \Delta \Delta^{-(2-\alpha)} x(t) \\ &= \Delta \Delta^{-\alpha} \Delta \Delta^{-(2-\alpha)} x(t) - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a) \\ &= \Delta^{1-\alpha} \Delta \Delta^{-(2-\alpha)} x(t) - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a) \\ &= \Delta \Delta^{1-\alpha} \Delta^{-(2-\alpha)} x(t) - \frac{(t-a)^{(\alpha-1-1)}}{\Gamma(\alpha-1)} \Delta^{\alpha-1-1} x(a) \\ &\quad - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a) \\ &= x(t) - \frac{(t-a)^{(\alpha-2)}}{\Gamma(\alpha-1)} \Delta^{\alpha-2} x(a) - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a) \\ &= x(t) - \sum_{k=1}^2 \frac{(t-a)^{(\alpha-k)}}{\Gamma(\alpha-k+1)} \Delta^{\alpha-k} x(a). \end{aligned}$$

So, we find the fractional Taylor difference formula of the second order fractional nonlinear difference equation

$$\begin{aligned} x(t) &= \frac{1}{\Gamma(\alpha)} \sum_{s=0}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + f_2(t, x(t + \alpha)) - f_1(t, x(t + \alpha))] \\ &\quad + \sum_{k=1}^2 \frac{(t-a)^{(\alpha-k)}}{\Gamma(\alpha-k+1)} \Delta^{\alpha-k} x(a). \end{aligned}$$

Similarly, we do this process for the higher-order fractional nonlinear difference. We

can write

$$\begin{aligned}
 \Delta^{-\alpha} \Delta^{\alpha} x(t) &= \Delta^{-\alpha} \Delta^m \Delta^{-(m-\alpha)} x(t) \\
 &= \Delta^{-\alpha} \Delta \Delta^{m-1} \Delta^{-(m-\alpha)} x(t) \\
 &= \Delta \Delta^{-\alpha} \Delta^{m-1} \Delta^{-(m-\alpha)} x(t) - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a) \\
 &= \Delta^{1-\alpha} \Delta \Delta^{m-2} \Delta^{-(m-\alpha)} x(t) - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a) \\
 &= \Delta \Delta^{1-\alpha} \Delta^{m-2} \Delta^{-(m-\alpha)} x(t) - \frac{(t-a)^{(\alpha-2)}}{\Gamma(\alpha-1)} \Delta^{\alpha-2} x(a) \\
 &\quad - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a) \\
 &= \Delta^{2-\alpha} \Delta \Delta^{m-3} \Delta^{-(m-\alpha)} x(t) - \frac{(t-a)^{(\alpha-2)}}{\Gamma(\alpha-1)} \Delta^{\alpha-2} x(a) \\
 &\quad - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a) \\
 &= \Delta \Delta^{2-\alpha} \Delta^{m-3} \Delta^{-(m-\alpha)} x(t) - \frac{(t-a)^{(\alpha-3)}}{\Gamma(\alpha-2)} \Delta^{\alpha-3} x(a) \\
 &\quad - \frac{(t-a)^{(\alpha-2)}}{\Gamma(\alpha-1)} \Delta^{\alpha-2} x(a) - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a).
 \end{aligned}$$

By repeating this process, we find

$$\begin{aligned}
 \Delta^{-\alpha} \Delta^{\alpha} x(t) &= \Delta^{m-\alpha-1} \Delta \Delta^{m-m} \Delta^{-(m-\alpha)} x(t) \\
 &\quad - \frac{(t-a)^{(\alpha-m+1)}}{\Gamma(\alpha-m+2)} \Delta^{\alpha-m+1} x(a) - \dots - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a) \\
 &= \Delta \Delta^{m-\alpha-1} \Delta^{-(m-\alpha)} x(t) - \frac{(t-a)^{(\alpha-m)}}{\Gamma(\alpha-m+1)} \Delta^{\alpha-m} x(a) \\
 &\quad - \frac{(t-a)^{(\alpha-m+1)}}{\Gamma(\alpha-m+2)} \Delta^{\alpha-m+1} x(a) - \dots - \frac{(t-a)^{(\alpha-1)}}{\Gamma(\alpha)} \Delta^{\alpha-1} x(a) \\
 &= x(t) - \sum_{k=1}^m \frac{(t-a)^{(\alpha-k)}}{\Gamma(\alpha-k+1)} \Delta^{\alpha-k} x(a).
 \end{aligned}$$

We can write

$$\begin{aligned}
 x(t) &= \frac{1}{\Gamma(\alpha)} \sum_{s=0}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + f_2(t, x(t+\alpha)) - f_1(t, x(t+\alpha))] \\
 &\quad + \sum_{k=1}^m \frac{(t-a)^{(\alpha-k)}}{\Gamma(\alpha-k+1)} \Delta^{\alpha-k} x(a).
 \end{aligned}$$

This completes the proof. □

3 Main Results

We will use the conditions

$$x f_i(t, x) > 0 \quad (i = 1, 2), \quad x \neq 0, \quad t \geq a \tag{3.1}$$

and

$$|f_1(t, x)| \geq p_1(t) |x|^\beta \quad \text{and} \quad |f_2(t, x)| \leq p_2(t) |x|^\gamma, \quad x \neq 0, \quad t \geq a, \tag{3.2}$$

where $p_1, p_2 \in C([a, \infty), \mathbb{R}^+)$ and $\beta, \gamma > 0$ are real numbers. We obtain some oscillation theorems for (1.1) without the condition (3.1) but with the condition (3.2) and the following conditions:

$$|f_1(t, x)| \leq p_1(t) |x|^\beta \quad \text{and} \quad |f_2(t, x)| \geq p_2(t) |x|^\gamma, \quad x \neq 0, \quad t \geq a, \tag{3.3}$$

where $p_1, p_2 \in C([a, \infty), \mathbb{R}^+)$ and $\beta, \gamma > 0$ are constants.

Theorem 3.1. *Suppose that condition (3.1) and (3.2) hold with $\beta > \gamma$. If*

$$\liminf_{t \rightarrow \infty} t^{(1-\alpha)} \sum_{s=a}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)] = -\infty \tag{3.4}$$

and

$$\limsup_{t \rightarrow \infty} t^{(1-\alpha)} \sum_{s=a}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) - H(s)] = \infty \tag{3.5}$$

for every sufficiently large T , where $H(s) = (\beta/\gamma - 1) [\gamma p_2(s) / \beta]^{\beta/(\beta-\gamma)} p_1^{\gamma/(\gamma-\beta)}(s)$, then every solution of equation (1.1) is oscillatory.

Proof. Let x be a nonoscillatory solution of equation (1.1). Suppose that x is an eventually positive solution of (1.1). Then there exists $T_1 > a$ such that $x(t) > 0$ for $t \geq T_1$. Let $s \geq T_1$ and take $X = |x|^\gamma(s)$, $Y = \gamma p_2(s) / (\beta p_1(s))$, $u = \beta/\gamma$ and $v = \beta/(\beta - \gamma)$. Then from (1.1), we see,

$$\begin{aligned} p_2(s) |x|^\gamma(s) - p_1(s) |x|^\beta(s) &= \frac{\beta p_1(s)}{\gamma} \left[|x|^\gamma \frac{\gamma p_2(s)}{\beta p_1(s)} - \frac{1}{\beta/\gamma} (|x|^\gamma(s))^{\beta/\gamma} \right] \\ &= \frac{\beta p_1(s)}{\gamma} \left[XY - \frac{1}{u} X^u \right] \\ &\leq \frac{\beta p_1(s)}{\gamma} \frac{1}{v} Y^v = H(s) \quad \text{for } s \geq T_1, \end{aligned} \tag{3.6}$$

where H is defined as in Theorem 3.1. From (2.3), (3.1), (3.2) and (3.6), we obtain

$$\begin{aligned}
 \Gamma(\alpha)x(t) &= \Gamma(\alpha) \sum_{k=1}^m \frac{(t-a)^{(\alpha-k)}}{\Gamma(\alpha-k+1)} \Delta^{\alpha-k}x(a) \\
 &\quad + \sum_{s=a}^{T_1} (t-s-1)^{(\alpha-1)} [v(s) + f_2(s, x(s+\alpha)) - f_1(s, x(s+\alpha))] \\
 &\quad + \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + f_2(s, x(s+\alpha)) - f_1(s, x(s+\alpha))] \\
 &\leq \Phi(t) + \psi(t, T_1) \\
 &\quad + \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + p_2(s)x^\gamma(s) - p_1(s)x^\beta(s)] \\
 &\leq \Phi(t) + \psi(t, T_1) + \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)] \quad \text{for } t \geq T_1,
 \end{aligned} \tag{3.7}$$

where

$$\Phi(t) = \Gamma(\alpha) \sum_{k=1}^m \frac{(t-a)^{(\alpha-k)}}{\Gamma(\alpha-k+1)} \Delta^{\alpha-k}x(a) = \Gamma(\alpha) \sum_{k=1}^m \frac{(t-a)^{(\alpha-k)}}{\Gamma(\alpha-k+1)} x_k \tag{3.8}$$

and

$$\psi(t, T_1) = \sum_{s=a}^{T_1} (t-s-1)^{(\alpha-1)} [v(s) + f_2(s, x(s+\alpha)) - f_1(s, x(s+\alpha))]. \tag{3.9}$$

Multiplying (3.7) by $t^{(1-\alpha)}$, for $t \geq T_1$,

$$\begin{aligned}
 0 < t^{(1-\alpha)}\Gamma(\alpha)x(t) &\leq t^{(1-\alpha)}\Phi(t) + t^{(1-\alpha)}\psi(t, T_1) \\
 &\quad + t^{(1-\alpha)} \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)].
 \end{aligned} \tag{3.10}$$

Take $T_2 > T_1$. Now we look at the cases $0 < \alpha \leq 1$ and $\alpha > 1$, respectively.

Case (i). Let $0 < \alpha \leq 1$. Then we get $m = 1$, $\Phi(t) = x_1(t-a)^{(\alpha-1)}$ for $t \geq T_2$,

$$|t^{(1-\alpha)}\Phi(t)| = |x_1|t^{(1-\alpha)}(t-a)^{(\alpha-1)} \leq |x_1| \left(\frac{T_2}{T_2-a}\right)^{(1-\alpha)} = c_1(T_2) \tag{3.11}$$

and

$$|t^{(1-\alpha)}\psi(t, T_1)|$$

$$\begin{aligned}
&= \left| t^{(1-\alpha)} \sum_{s=a}^{T_1} (t-s-1)^{(\alpha-1)} [v(s) + f_2(s, x(s+\alpha)) - f_1(s, x(s+\alpha))] \right| \\
&\leq \sum_{s=a}^{T_1} t^{(1-\alpha)} (t-s-1)^{(\alpha-1)} |v(s) + f_2(s, x(s+\alpha)) - f_1(s, x(s+\alpha))| \\
&\leq \sum_{s=a}^{T_1} \left(\frac{T_2}{T_2-s-1} \right)^{(1-\alpha)} |v(s) + f_2(s, x(s+\alpha)) - f_1(s, x(s+\alpha))| \\
&= c_2(T_1, T_2) \quad \text{for } t \geq T_2. \tag{3.12}
\end{aligned}$$

We can see from (3.10), (3.11), (3.12) that

$$t^{(1-\alpha)} \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)] > -[c_1(T_2) + c_2(T_1, T_2)] \quad \text{for } t \geq T_2.$$

Hence,

$$\liminf_{t \rightarrow \infty} t^{(1-\alpha)} \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)] \geq -[c_1(T_2) + c_2(T_1, T_2)] > -\infty,$$

which contradicts (3.4).

Case (ii). Let $\alpha > 1$. Then we have, for $m \geq 2$,

$$\begin{aligned}
|t^{(1-\alpha)} \Phi(t)| &= \left| t^{(1-\alpha)} \Gamma(\alpha) \sum_{k=1}^m \frac{(t-a)^{(\alpha-k)}}{\Gamma(\alpha-k+1)} x_k \right| \\
&\leq \Gamma(\alpha) \sum_{k=1}^m \frac{|x_k| t^{(1-\alpha)} (t-a)^{(\alpha-k)}}{\Gamma(\alpha-k+1)} \\
&\leq \Gamma(\alpha) \sum_{k=1}^m \frac{|x_k| (T_2-a)^{(1-k)}}{\Gamma(\alpha-k+1)} \\
&= c_3(T_2) \quad \text{for } t \geq T_2 \tag{3.13}
\end{aligned}$$

and

$$\begin{aligned}
&|t^{(1-\alpha)} \psi(t, T_1)| \\
&= \left| t^{(1-\alpha)} \sum_{s=a}^{T_1} (t-s-1)^{(\alpha-1)} [v(s) + f_2(s, x(s+\alpha)) - f_1(s, x(s+\alpha))] \right| \\
&\leq \sum_{s=a}^{T_1} t^{(1-\alpha)} (t-s-1)^{(\alpha-1)} |v(s) + f_2(s, x(s+\alpha)) - f_1(s, x(s+\alpha))| \\
&\leq \sum_{s=a}^{T_1} |v(s) + f_2(s, x(s+\alpha)) - f_1(s, x(s+\alpha))|
\end{aligned}$$

$$=c_4(T_1) \quad \text{for } t \geq T_2. \tag{3.14}$$

From (3.10), (3.13) and (3.14), we can see

$$t^{(1-\alpha)} \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)] > -[c_3(T_2) + c_4(T_1)] \quad \text{for } t \geq T_2.$$

Hence,

$$\liminf_{t \rightarrow \infty} t^{(1-\alpha)} \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)] \geq -[c_3(T_2) + c_4(T_1)] > -\infty,$$

which contradicts (3.4). Next, we suppose that x is an eventually negative solution of (1.1). Then a similar argument leads to a contradiction with (3.5). The proof is complete. \square

Theorem 3.2. *Let $\alpha \geq 1$ and suppose that conditions (3.1) and (3.3) hold with $\beta < \gamma$. If*

$$\limsup_{t \rightarrow \infty} t^{(1-\alpha)} \sum_{s=a}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)] = \infty \tag{3.15}$$

and

$$\liminf_{t \rightarrow \infty} t^{(1-\alpha)} \sum_{s=0}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) - H(s)] = -\infty \tag{3.16}$$

for every sufficiently large T , where H is defined as in Theorem 3.1, then every bounded solution of (1.1) is oscillatory.

Proof. Let x be a bounded nonoscillatory solution of (1.1). Then there exist constants M_1 and M_2 such that

$$M_1 \leq x(t) \leq M_2 \quad \text{for } t \geq a. \tag{3.17}$$

We assume that, x is a bounded eventually positive solution of (1.1). Then there exist $T_1 > a$ such that $x(t) > 0$ for $t \geq T_1$. By the inequalities (2.2) and (3.6), we find

$$p_2(s) |x|^\gamma(s) - p_1(s) |x|^\beta \geq H(s) \quad \text{for } s \geq T_1, \tag{3.18}$$

where H is defined as in Theorem 3.1. Define Φ and ψ as in (3.8) and (3.9), respectively. Similarly to the proof of (3.10), from (2.3), (3.1), (3.3) and (3.18), we get for $t \geq T_1$,

$$t^{(1-\alpha)} \Gamma(\alpha) x(t) \geq t^{(1-\alpha)} \Phi(t) + t^{(1-\alpha)} \psi(t, T_1) + t^{(1-\alpha)} \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)]. \tag{3.19}$$

Take $T_2 > T_1$. Next, we consider the cases $\alpha = 1$ and $\alpha > 1$.

Case (i). Let $\alpha = 1$. Then (3.10) and (3.11) are still true. From (3.10), (3.11), (3.17) and (3.19), for $t \geq T_2$,

$$M_2\Gamma(\alpha) \geq -c_1(T_2) - c_2(T_1, T_2) + t^{(1-\alpha)} \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)].$$

Thus, we can see

$$\begin{aligned} \limsup_{t \rightarrow \infty} t^{(1-\alpha)} \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)] \\ \leq c_1(T_2) + c_2(T_1, T_2) + M_2\Gamma(\alpha) < \infty, \end{aligned}$$

which contradicts (3.15).

Case (ii). Let $\alpha > 1$. Then (3.12) and (3.13) are still valid. From (3.12), (3.13), (3.17) and (3.19), for $t \geq T_2$,

$$M_2\Gamma(\alpha) t^{(1-\alpha)} \geq -c_3(T_2) - c_4(T_1) + t^{(1-\alpha)} \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)].$$

When $\lim_{t \rightarrow \infty} t^{(1-\alpha)} = 0$, we obtain

$$\limsup_{t \rightarrow \infty} t^{(1-\alpha)} \sum_{s=T_1}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)] \leq c_3(T_2) + c_4(T_1) < \infty,$$

which contradicts (3.15). Finally, we suppose that x is a bounded eventually negative solution of (1.1). Then a similar argument leads to a contradiction with (3.16). The proof is complete. \square

4 Results with the Fractional Caputo Like Difference Operator

In this section, we first give a definition for the Caputo like difference.

Definition 4.1 (See [1]). Let $\mu > 0$ and $m - 1 < \mu < m$, where m denotes a positive integer, $m = \lceil \mu \rceil$, $\lceil \cdot \rceil$ ceiling of number. Set $v = m - \mu$. The μ -th fractional Caputo like difference is defined as

$$\Delta_*^\alpha f(t) = \Delta^{-v} (\Delta^m f(t)) = \frac{1}{\Gamma(v)} \sum_{s=a}^{t-v} (t-s-1)^{(v-1)} (\Delta^m f)(s), \quad \forall t \in \mathbb{N}_{a+v}.$$

Here Δ^m is the m -th order forward difference operator

$$(\Delta^m f)(s) = \sum_{k=0}^m \binom{m}{k} (-1)^{m-k} f(s+k).$$

In this section, we study for the Caputo fractional operator, the oscillation of the initial value problem

$$\begin{aligned} \Delta_*^\alpha x(t) + f_1(t, x(t+\alpha)) &= v(t) + f_2(t, x(t+\alpha)), \quad t > a \geq 0 \\ \Delta^k x(t)|_{t=a} &= x_k, \quad k = 0, 1, \dots, m-1, \end{aligned} \tag{4.1}$$

where $\Delta_*^\alpha x(t)$ is the Caputo type like discrete fractional difference operator of order α with $m-1 < \alpha \leq m$. $f_i : [0, \infty) \times \mathbb{R} \rightarrow \mathbb{R}$, $i = 1, 2$ and v are continuous with respect to t and x , $\mathbb{N}_a = \{a, a+1, a+2, \dots\}$. The corresponding Caputo type fractional Taylor's difference formula

$$x(t) = \sum_{k=0}^{m-1} \frac{(t-a)^{(k)}}{k!} \Delta^k x(a) + \frac{1}{\Gamma(\alpha)} \sum_{s=a}^{t-\alpha} (t-s-1)^{(\alpha-1)} \Delta_*^\alpha x(s), \quad t \in \mathbb{N}_{a+\alpha}.$$

Theorem 4.2. *Suppose that (3.1) and (3.2) hold with $\beta > \gamma$. If*

$$\liminf_{t \rightarrow \infty} t^{(1-m)} \sum_{s=a}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)] = -\infty$$

and

$$\limsup_{t \rightarrow \infty} t^{(1-m)} \sum_{s=a}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) - H(s)] = \infty$$

for every sufficiently large T , where H is defined as in Theorem 3.1, then every solution of (4.1) is oscillatory.

Theorem 4.3. *Let $\alpha \geq 1$ and suppose that (3.1) and (3.3) hold with $\beta < \gamma$. If*

$$\liminf_{t \rightarrow \infty} t^{(1-m)} \sum_{s=a}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) - H(s)] = -\infty$$

and

$$\limsup_{t \rightarrow \infty} t^{(1-m)} \sum_{s=a}^{t-\alpha} (t-s-1)^{(\alpha-1)} [v(s) + H(s)] = \infty$$

for every sufficiently large T , where H is defined as in Theorem 3.1, then every bounded solution of (4.1) is oscillatory.

References

- [1] G. A. Anastassiou, *Discrete fractional Calculus and Inequalities*, Department of Mathematical Sciences University of Memphis, Memphis, TN 38152, U.S.A., 2009.
- [2] F. M. Atıcı and P. W. Eloe, *A transform method in discrete fractional calculus*, International Journal of Difference Equations, **2**(2), pp. 165–176, 2007.
- [3] F. M. Atıcı and P. W. Eloe, *Initial value problems in discrete fractional calculus*, Proceedings of the American Mathematical Society, **137**(3), pp. 981–989, 2009.
- [4] D. X. Chen, P. X. Qu and Y. H. Lan, *Forced oscillation of certain fractional differential equations*, Advances in Difference Equations, 2013:125, 2013.
- [5] K. Diethelm, *The Analysis of Fractional Differential Equations*, Springer, Berlin, 2010.
- [6] S. R. Grace, R. P. Agarwal, P. J. Y. Wong and A. Zafer, *On the Oscillation of Fractional Differential Equations*, Fractional Calculus and Applied Analysis, **15**(2), 2012.
- [7] A. A. Kilbas, H. M. Srivastava and J. J. Trujillo, *Theory and Applications of Fractional Differential Equations*, North-Holland Math. Studies 204, Elsevier, Amsterdam, 2006.
- [8] K. S. Miller and B. Ross, *An Introduction to the Fractional Calculus and Fractional Differential Equations*, John Wiley & Sons, New York, NY, USA, 1993.
- [9] I. Podlubny, *Fractional Differential Equations*, Academic Press, San Diego, Calif, USA, 1999.
- [10] M. R. Sagayaraj and A. G. M. Selvam, *Oscillation of Fractional Nonlinear Difference Equations*, Mathematica Aeterna, **2**(9), 805–813, 2012.